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1. f: X —=RO COODDDDDDDfx:a—fDDDDDDDDDDD
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(1) (r0,,) 0 RRO0OD0O0OD0OD0O0O0O0O0O0O00x = rcosh, y =rsinf 00000
g(r,0,z) = f(rcosf,rsinf,z)00000D0g,, go, 9.0 fo, fy, 0000
gdgd

(2) v=(z,9,2)0 fO000D0DOO0 fo(v) = f,(v) = fo(v) =000000000
v=(rcosf,rsinf,z) 000 (r,6,2)0 gDO00O0O0OO0O0O0O0O0OOO

3) 000w=(r0,z)0 g0 0000O0DODODOO(x,y,2) = (rcosf,rsind, z) 0
000 (x,y,2)0 fOO0O0O0O0O0OOCOOOOO

2. [+ X >ROODODOO00000 f(r6,2)=(r—-22+22-1000000
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2. (1) 00000060=0000000000(r2) =(2,00000000010
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00000000000000

(3) 00000000 410000

6/240 000000000 AD4030000000000
http://math.shinshu-u.ac.jp/~ksakai/11_geometry/11_geometry.html



